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Adding 6 Subtracting Decimals

5552
3 decimal places

3. Count the total number of decimal places in the factors and put a Ll 8 5 8 O l
decima point in the product so that it has that same number of

decima places. 5 Ll i 3 2 5 Lt dizj

DiViding Decimals
i. Write the dividend under the long diVision sgmbol and the divisor to the

left of its

€x: 25.3 + 0.3

2. Move

whole

the

number

decimal

and
point
then

in

move

the divisor

the decimal

after
in

the

the

number

dividend

to

the

turn

same

it into a
(is/>25 gjo

ZLI
number of places. Then bring it up.

l 3

2. Exponents 5 + LlUb)

3. Multiplication 8 Division (left to right)
5 + 7.2

Ll. Addition £7 Subtraction (left to right) l2?

I. Wrire the prob1em verTicallg, linmg up The decima‘ points‘

2. Add dddmonal zeroes dT the end, if neceesarg, to make the numbers

have the Same number of decimal places. HhQOO
3. Add/subtract as if the numbers are whole numbers

* 7 . q 3 Lt

AL. Bring the decimal point straight down
é; i2 Q) G

Multiplging Decimals
i. Write the problem verticallg with the numbers lined up to the right. 8N b¢+x76
The decimal points do NOT need to be lined up.

Z. Ignore the decimals and multiplg as if the numbers are whole
X

numbers.

Q . q Ll. -e+2 decimalplaces

7. 8 s» idemmalplace

3. Divide as if the numbers are both whole numbers. l 2

l O
Li. Annex zeros in the dividend as needed until there is no remainder. If

‘ Cl

gour answer is a repeating decimal, write the answer using bar

notation.
l

Order of Operations
i. Grouping Sgmbols (parentheses, brackets, etc.) €x: 5 + Ll(3 - l2)



Soive each word probiem, showing all work.

i3. Jeff had $%.i8 in his waHet Mondag morning. iLt.
He gave halF of his moneg To his brother. He
Then bought Two donuts for $0.75 each and a
cap of coffee For $2.5M. How much moneg did
Jeff have leFt?

Five friends split a $@5.2O bill at a restaurant.
Theg also each left $275 for the tip. How
much moneg did each person pag in all?

Evaiuate each expression,

l. M83 + 2.5M 2‘ 224 — 5&273 3. hi2 — 4.q23

Lk 2Ur.5 ‘ 3.2 5. 0.23 - 7 G. 35G - (M5

7. {46 + 5 5. 46.3 + {.5 Ci. M7 + 2.25

IO. 24.33 - 2.5 ~ 7 H. 3g + W52 l2. 32508.4 ~ 2 ‘ L2)



Adding Fractions £7 Mixed Numbers
3Find d common denominaior for The two fractions. iL

/ Dividing Fractions S Mixed Numbers \

2. Add The Two numerators and keep The denominaior the same.
3‘
3
3

3
3E—

+
i

3. Add The whoie numbers.
2 Li

Li. Simplifg The answer and/or change improper fraction answers To
mixed numbers.

5 i
5 _:;@_

Li Li

Subtracting Fractions 6 Mixed Numbers
i. Find a common denominator for the two fractions.

8X: 5 LL
~ i

gr
2. Subtract the two numerators and keep the denominators the same.

IF the top numerator is smaller than the bottom numerator, borrow
3 i5

From the whole number and rename the top Fraction. -
2 b 5
é

: ’i2 _ l
i2

Subtract the whole numbers

SimpliFg the answer

7
3

i’Z

Muttiplging Fractions 5‘ Mixed Numbers
i. Turn ang mixed numbers and whole numbers into improper fractions. ex: 2

l
i ——u

E 7
2. Cross-Simplifg if posSible.

2
i3 9t 2(0

3. Multiplg the numerators and then multiplg the denominators
3% 7

#
21

” l25i

Li. Simplifg the answer and/or change improper Fraction answers to
mixed numbers.

i. Turn ang mixed numbers and whole numbers into improper Fracttons. ex: 7 + l
3

ll
2. Keep the First Fraction the same, change the diViSion to multiplication,

and Flip the second Fraction to its reciprocal.
’7
i /

' ii

3. Multiplg the fractions. i
ly

H Lt
Li. Simplitg the answer and/or change improper Fraction answers to

mixed numbers.

—! .
% l:

“i“ : Ll



Ev aiuaTe each expression.

Sok/e each word problem, showing oxH work.

2‘7. Jaimie ran 3% miles on Mondag. 8he ran half 28. A 5% quart pot is Filled
%
oF the wag with waier.

as Far on Taesdag as she did on Mondagi How How mang more quaris of water can The poi
Far did Jaimie ran in al! on Mondag and hold?
Tuesdag’?

Q 3
6. —+

5 Hr IC). L% g + 2 q
'7 M W.&

’i+q 5
{2 E

:8. wg W. é—g— 4-; l 8
20. LP

E a

L? f5
2!. §

‘
m;

322. 2 a - 8 5 f23. G; E
- 3 2

7 224. § + §
q25. + IO5 2Q. 5

’Z 5
§ + 2 E



Ratios
ex: write the ratio o€ Triangles To circles

in3wags: &&&

Ratios are comparieons of Two quantities.
There are 3 different wags to write ratios:

A— Fraction
B

K Fractions, Decimais, 6 percent \
To convert a:

- Coion (AB) Li
— Word Forrn (A to B)

2
:

i
, 2:i, ’Z TO l

Ratios can be simpiifiediust like Fractions.

Rates 8 Unit Rates
Rates are ratios that compare quantities measured in different units. ex: express as a unit rate:
A unit rate is a rate with a denominator of i. i25 mites in Li hours

To convert a rate to a unit rate: i’ZS mi

i. Divide the numerator bu the denominator {’25 —Z~ Lt : 3t25
Lt hr

2. Either write uour answer as a fraction with a iabel for the both the

numerator and denominator OR as one number iabeied with the first

unit
“per” the second unit

3i.25 mi
or N25 miles per hr

i hr I

- Decimal to percent: move the decimal point 2 places to the right ex: 03ft; : 3R.5%

— Percent to Decimal: move the decimal point 2 places to the left ex:
g {4% : 0.07

- Decimal to Fraction: write the decimal over the place value of the last

digit and then simplifg

8 l
ex: 0005 :

IOOO 125

l
— Fraction to Decimal: divide the numerator bg the denominator ex:

g
: 5 i.o

— percent to Fraction: write the percent over IOO and then simplifg
45 Cl

8x: l—l595 2
{OO

’’
20

— Fraction to percent: convert the fraction to a decimal and then
€X:

3
: 0.3 z 30%

convert the decimal to a percent IO

i.

Percent of a Number

Turn the percent to a fraction or decimal. ex: Find i5% of LIO

2. Multiplg the fraction/deamal bg the number. Qir’S ' LtO : 7.2



Write each mTio in 3 wags.

2q. A bank contains 15 pennies and 12 nickels. Write 30. A bowl conmins Q; apples and some bananas. IF
the ratio of nickels to pennies. there are a total of to pieces of Fruit, find the

ratio of apples to bananas.

Convert each rate to a unit rate.

3i. $.25 For o4 Fluid ounces 32. 2W miles on ii gallons of gas 33. i2Li Feet in i0 seconds

Complete the chart bu converting each number to a percent fraction and/or decimal,

Find each percent of a number.

3
3%. g

35.
OHS

3Q).
72%

37.
O.l

338.
200

3Q. 30% of Clo LIO. l5% of 38 Lll. 50% of 8(0

LIZ. 75% OF lG;O Li3. 2Li% of 35 LlLl. 2% of 7%



/ Comparing Integers
Integers are numbers wiThouT fractional parts. Thea can

be posinue, negative, or zero. The Farther right a number

is on the number line, the greater it is.

ex: compare with <, >, or :

—7 q| <- The absoiute vaiue

The Coordinate plane

Quadrant H

Perimeter, Area and Volume
‘ — perimeter oF Ang polggon: add all side lengths ex. Fmd The perimag 5 area.

8 mm

— Area oF a Rectangle: A : lw

— Area oF parallelogram: A : bh
lUr mm

The bases are the Sides that are and the

height is perpendicular to the bases.
— Volume oF Rectangular prism: V : lwh _) A :

i’ (Li)(5+ill) :

Weieri.........i H OF $1 z q
Ji—arz-i o i 2 3 Ur

v7 < q
The absolute value of a number is the distance the

number is From zero.

A

ex: Graph the point (~3, 2)

Quadrant H ~$ Quadrant I and state the quadrant
D
>(
(7),

To graph a point on the

coordinate plane, start at
in which it ts located.

x—axis
r

f

the origin The First

number in the ordered pair
Start at the origin, and move
LEFT 3 and Up 2

origin (the x—coordinate) tells gou At
how Far leFt (iF negative) or

Quadrant HI Quadrant IV
V

right (iF positive) to move.

The second number (the g— t l L

coordinate) tells gou how 4

Far up (iF positive) or down

Ordered pair: (x, g)
(iF negative) to move.

— Area oF Triangle: A :
%bh perimeter: D : a + & + 5 + iLi =

~ Area oF Trapezoid: A :
2

‘h(bt
r
+ b'Z )

a trapezoid, n use the area of a trapezoid

i

Area: This is t

Formula: A :
Eh (b) + b7)



Co mpare The infegers wifh <, >, or :.

4e. 2 Q —2 47. i 5l©15i w. —!3 Q4

5t. 47 QM 52. l*3IQ[ 21 54. l~LH Q M

Graph and label each of The ordered pairs m The coordmaTe plane. Thea stale The quadranT
or axle m/on which The poihT i3 locaTed.

Find The perimeTer, area, and/or volume of The given figure.

G5. Find The perimeTer S area:

B
E
u
LO

OW

Qcm

QC). Find The perirneTer 5 area:

3

Q

I

8m

627. Find The perimeTer S area:
l

@d. Find The perimeTer E drea:

6H

g

m
~T—

I I
7H

FT

35.

W. Find The area of a square

wiTh a perimeter of 45 cm

70. Find The volume:

L26
mm

Q); mm $

55. Arz, Ll) 5a. Bax—3)
A

57. C(l, 4) 55. Dr3, 3)

5a. era, l) ao. F( >
*1 $p

(01. e(—3,—2) a2. H(-2, 3)

(03. I(o,2) w. J(-l,—Ll) w vM m W..............



Evaluating Algebraic Expressions
ex: evaiaaie x + #9 for

i. Substitute the given numbers for The variables
x : ll 6 g : Co

2. Evaluate the expressiom using the oroler of operations
Ll + LHb)

the variable to both Sides of the

- Subtraction Equations: Add the number being subtracted from ex: Eg r a 1:?

k
equation 25 : a ‘9

/

/ One-Step Muttiplication S Division Equations \

- Multiplication Equations: Divide both sides of the equation bg €X:_7b : _
the number next to the variable

b:Li

the number under the variable

- DiviSion Equations: Multiplg both sides of the equation bg exz‘s\5‘D Z lo ‘ 5

n

K J

/ problem Solving \
i. Read the problem. Identifg the question that is being asked and the keg information in

the problem.

2. plan how gou are going to solve the problem and estimate the answer.

3. Solve the problem using the strategg of gour choice.

Li. Check gour answer. Make sure gour answer is reasonable and compare it to gour
estimate. Label gour answer with appropriate units.

/

Ll + ’ZLI :

\

-

One—Step Addrtion 6 Subtraction Equations

Addition Equations: Subtract the number being added to the w x : 18
variable From both sides of the equation -u

x : lLl



Ev aluate each expressiom For a : 5, b : {2, c : IO, S d : 2.

Soive each one—sTep equation.

71. 2b a 72. d(ab ..... c) 73. 3 +§

LPG.
7%.

b+ Wd
75. 2a2 — c 7G). b ~ C + d

7‘7. g + 3 z 17 78. r o; : 7 7q. @b : r& 8o. Q: 3

&,5:fg5 82. L+5 : {2b 53. a + 2% z 83 6%. 17 + X : Z3

85. to :g 8c). 8&.5:f 7/03 87. %
: u 88, Eh:

3
12



Soive each word problem using The meThod of gour choice,

8C1. A Fencing compqng charges $22 per foot To instoH

a wood fence. How much will it cost To insigll a

wood fence around a reciangular pool area Thai is

20 FeeT wide and 38 feeT long?

qO. A G; inch—TaH piant grew
3/4 of an inch one week

and twice as mach The following week. How Tall is

The planT now?

Cii. Jack can read #5 pages of his book in one and a

half hours. AT ThaT raTe, how long will iT Take him To

read The enTire 300-page book?

42. Brian ordered 3 large cheese pizzas and a salad.

The salad cosT $Li.Ci5. 1f he spenT a ToTal of

$Li7.6;O including The $5 Tip, how much did each

pizza cosT? (Assume There is no Tax).

q3. A cookie recipe calls for 3—; cups of flour. The

recipe makes 3 dozen cookies. How much four is

needed To make iLiLi cookies?

i
qLi. Ella has a box of chocolaTe candies She gives é

of The candies To her SisTer, Li To her broTher, and

she eaTs The remaining i2 candies. How mang

chocolaTe candies were in The box originallg?



Solve each word probiem using The meThod of gour choice.

C15. 20% of The 52o students in Wendouer Middle
School were involved in school sporis. Of those
sTvdenTs, i2.5% were on The wresT ing Teams How
mang sTvdenTs were on The wresT ing Team?

%. A piggg bank contains Some dimeS and nickels.
There are 8 more dimes ihan nickels in The bank.
There is a ToTal of $i.LIO. How mang of each Tape
of coin are in The bank?

Q7. An elevaTor in a Tall building goes up 7 floors, Then
down q f oors, down Li floors, up & floors, and
down 2 foors. Now iT is on floor ill. On whaT
floor did The elevaTor sTarT?

(18. Jenna danced for 3 hours on Sundag, 2 hours on
Mondag and Tuesdag, i hour on Thursdag, 15
hours on Fridag, and 2 hours on SaTurdag. She
did noT dance aT all on Wednesdag, WhaT is The
average number of hours she danced each dag?
Round gour answer To The nearesT TenTh of an
hour.

CW. Jackie makes $i525/hour babgsiTTing. George
makes MSG/hour mowing The lawn. If Jackie
babgsiTs for Ll hours and George mows lawns for
3 hours, who makes more moneg? How much
more does he/she make?

TOO. A box of 8 cragons cosTs $0.6M). How much does
each cragon cosT? AT ThaT uniT price, how mach
would a box of 3O cragons cosT?



Adding, Subtracting, Multiplying and Dividing Integers (A)

Name: Date: Score:

Calculate each sum, difference, product 0r quotient.

Math-Drills.com

(+2)><(—12)= (—12) + (+12)

( 2)><(+10)=

(+8)+(+7) : (—6)+(+12)=

( 10)+( 10): (+1)><( 10):

(+12) (+5) =
'(—12)—(—9)

(—10)+(—6) = (+11)+(—3)

(+8)—( 2) = (+6)+(+1)
(—12)+(+1) = (—4)—(+2)

(+9)><(—12)= (+3) (+3)

(+9)+(+11)= < 3>—<—12>=

(+18)+(—9) — ( 11)+(—1)

(+11)><(—8) ( 11)+(—4)

(—7)+(—8) = (—4)—(—9)

(+44) + (+11) = (+2)><(—2)

<—3)><(—9> = (+8)—(+5)

(+9)+(—9) - <—s)><< 6)

(+9)><(—2) : (+11)+( 11):

(+5)+(—8) = (+5) ( 12):

(+9) (—7) —
( 6)><( 9)

<—1>—(—8> : (+35)+(+5)

(+6)><(—11)= (—2)+(+11)=

< 11> ( 6)

( 10)—(+3) = (+3)><(—5)

<—8>+< 1) = (—48)+(—12)

< 27)+<—3) (+11)—(—7)



Adding, Subtracting, Multiplying and Dividing Integers (B)

Name: Date: Score:

Calculate each sum, difference, product or quotient.

(+2)-(-8) ( 8)-(+6) —

( 11)+(-7) = (—11)><(+3) :

(—88) + (—11) = (—5)x(+11)=

(+44)—:—( 11): (—11)><(—2) =

(+10) + (+12) = ( 5)-(+9) 2

(+20)+( 10): (+6)><(+11)=

(+10) (+1) = (—10)><(+8) =

(+8)><<—4) (-8)><(+2)

<—6> r 10>: (+11) — (+11) =

(+12) (+7)
—

(—10)><(+2)
—

(+2) (+4) =

(—12)—(+5) (+8)+( 12):

<-6)><(—12)= (—2>—<+3> =

( 6)><(—8) (+108)+(—9) =

(+4)+(—10): (—16)+(+4) =

(+10)><(—6) = < 9)—(—5) -

(+40) + (+8) =

Math-Drills.com

(+12)—(—3) ( 9)+(+11)=

( 50)+(+5) = (+4)><(+9)

(+9)><(+9) _ (+3)><(—4)

(+7)—(—1o)=

(+7)+(+11)= (+2) {—9)

( 8)+(+7) -

(+7)><( 8) — (+6)+( 4)

(+12)—(+1‘)
— (+2)+(+6)

(+3)+(—10): (+4)+‘( 12):



Order of Operations (J)

Name: Date:

Simplify each expression using the correct order of operations.

(—6) + 3 + 23 — (—8)

((—5) + 5 — (—4)2) x 3

(8 — (—4) +( 8))2 x4

<-2)2
— 6 + (—9) >< (—3)

42 - (—2) + (—8) >< (—9)

10 + (—2) — (—7) + 62

(—2)x8+92—5

(—7) x (—6) — 6 + 42

(—4)2+2><10+4

8 -:— ((—8) — (—2) + sf



Answer Kay

Evalume each expregsion.

8olve each word problem, Showing aH work.

i3. Jeff had $%.i& in hie waHeT Mondag morhihg. (LL Five Friends ephi a $®5fZO bill m a restauram.

He qave half of his moneg To his brother. He Theg also each lefi $2.75 for The lip. How

lheh bought two donuts for $0.75 each and a much moneg did each person pag ih all?

cap of coffee for $2.4q. How much moneg did

Jeff have left? $ 15 .7 9

$i8.6o

I. 5%3 + 2W

8,973

Z. 224 - 5&7?

167.27

3. wQ — LM23

l. W7

LP. 24.5 - 3.2

78.4

5. 0.23 - 7

1.6!

Cy. 3.862 - (MB

35.3 1‘7

‘7.
[W8 + 5

2%

8. 46.3 + L5

30.86

q. M7 + 2.25

653

IO. 2%.33 — 2.5 - 7

6.83

H. 3.67 + W52

24. i5

J2. 51.25%}? — 2 - L2)

148



Amswer Key

Ev aluare each expression,

SolV€ each word probiem, Showmg ali work.

27’ Jaimie ran 3% mileS on Monday. $he ran haif Z&. A 5% quarT pot is Filled
%o€

The wag with water‘

as Far on TaeSdaa as she did on Mondaai How How mang more quarts of wafer can The poi
Far did Jaimie ran in all on Mondag and hold?
Tuesdaa?

i h:- quarie
S rniieo

4

u 3
l5.

§+E

’I H
20

VaL+g+2q7 w

{’5
6 14

m6“
«2+q§

18
7
36

16. gig

5
8

5

“Mg-215 3

4
6

15

20 q%~§

5
18

3

u t5
2:. %

'
{Q

3

2O

22.23— .8

22

234$&
‘ 3?!

23
3
16

7 22W. a + é

‘é

q25. — (o5

2
25

wag3 “2%

2



Answer Key

Wrire each romo m 3 wags.

25!. A bamk comams 15 pennies and 12 nickels. Write 30. A bowi comams G: app1es cmd some bananas. If

The ratio of nickeIS to pennies. There are a tofal of IO pieces of fruit, find the

ratio of appies To bananas.

4
5

3:2, 3 To 2)
3

4:5, 4 To S, i

ConverT each raTe To a aniT raTe.

3T. $Li25 for 6LT fluid ounces 32. 2W miies on ii gaHons of gas 33. mi feeT in IO seconds

$0.07 pei‘ fToz 27 mi/gaT 12.4 TOT/860

CompieTe The charT bg converTing each number To a percenT, fracTion, and/or decimal.

Find each percenT of a number.

3
3Li. ’8

0.375 37.5%

35.
Ci

20
one 45%

3c. i8

25
O72 72%.

37. l

TO
0.1 iO%

33s.
200 0.0 i5 l5%

3q. 30% of C10

27

Li0. i5% of 3&

5.7

LH. 50% of 80;

43

LT’Z. 75% of [00

120

Li3. 2% of 35

8.4

4LT. 2% of 7LT

T48



Answar Kay

Compare The infegers with <, >, or :.

Graph and iabel each of The ordered pairS m The coordina’re plane. Then sTaTe The quadranT
or axiS In/on which The poinT iS iocaTed.

Find The perimeTer, area, and/or uoTame of The given figure.

LL5. M C3 —5 Lw. 2 ®
-2 w. i 5\@15l 48. —7 Q) a M. -r3@—q

5o 1~7‘@—c; 5t. »r7@—M 52. l—3l@[ 2‘ 53. o @—e 54. 1 41g) 1a]

55. A(2,L+)

QoadranT I
55. 5(o,-3)

y—aXTs

57. C(H)

GoadranTIV
55. D(3, 3)

QuadranT I
5q. E(-L+, I)

QoadranT II
5o mp)

X-axis §~

a. o(-3,—2)

QuadranT HI
p2. H(—2, 3)

QuadranTlI

p3. 1(o,2)

y—axis

w. J(—T,—L+)

QoddranT H1

695.

E

if)

Find The perimeTer

/3 C”)

8 area: Go. Find The perimeTer 8 area:

o)
3.

I
6 in

P = 26 in

A 2: 28 in2

67. Find The perimeTer E area:
T

T
3% in

P z T4 in

A z: T2X' in2

P

A

i2 cm

: 3O om
:z 3O om2

@o. Find The perimeTer E area: 651. Find The area of a Square

wiTh a perimeTer of Li5 cm

A :: i26-TE om 2

Tor T26 S625 om2)

70. FindThe voTame:

LO.
C“

P

A

5 TT

I I

4: E
E .Qm

’7 FT

z 22.5 TT
z 26.25 TTZ

(oi mrn Qy

v : 28 ll mm 3
T6



A sw6rK6y
Evaiuate each expression For a z 5, b : l2, c : to, 8 d : 2.

Sowe each one—sTep equation.

71‘. 2b ~- a

W

72. d(ab c)

IOO

73. 3 +g

9

Lm
74.

b+ 4d

i

75. ZQZ ..... c

4O

7G). b c + d

4

77.g+3:l7

9 : 14

76.r ...... Q2:

1": 13

7a. ab:¢5

b:3

60.2:3

h:27

8L5:€-8

f z 13

82.L+5:12b

b:4

e3. a+24:&3

a25€

oLF. f7+x:23

X:6

o5.:o:m

m250

5o. ee.5:€ 7103

fzcMB

&7./9:H

{1:66

&&.3h::2

h z: 16



Arwsww Kay
Solue each word problem uging The method of gour choice.

M. A fencing compang charges $22 per Foot 'to
install

a wood Fence. How much wiH it cost to instaH a
wood fence around a rectangular pool area that iS
20 Feet wide and 3§ feet tong?

$2,552

C10. A (a inch—ta“ plant grew 3/4 of art ihch one week
and twice as much the Foilowing week. How taH is
the ptant now?

8% inches tatt

Cii. Jack can read Lt5 pages of his book in one and a
half hours. At that rate, how long will it take him to
read the entire 3oo‘page book?

lO hours

612. Brian ordered 3 large cheese pizzas and a salad
The salad cost $4.45. If he spent a total of
$Ll‘7bo including the $5 tip, how much did each
pizza cost? (Assume there is no tax).

33 i255

C13. A cookie recipe calls for 3& cups of flour. The
reCipe makes 3 dozen cookies. How much four is
needed to make iLlLt cookies?

13 cops of flour

5M. Ella has a box of chocolate candtes. ghe gives di

of the candies to her sister, Ur to her brother, and
she eats the remaining i2 candies. How mang
chocolate candies were in the box originallg’?

24 chocolate candies



Answar Key
Soive each word probiem using the meThod of gour choice.

qS. 20% of The 520 smdents m Wendover Middle

School were involved in school sporis. Of Those

siudenis, i2.5% were on The wresT ing Team. How

mang sTudenTs were on The wresT ing Team?

13 sTUdenTs

%. A piggg bank contains some dimes and nickels.

There are 8 more dimes Than nickeis in The bank.

There is a ToTa! of $i.L+O. How mang oi each Tape

of coin are in The bank?

4 nickeTs & {2 dimes

(T7. An elevaTor in a TaH building goes up 7 Floors, Then

down q Foors, down Li floors, up 8 floors, and

down 2 foors. Now iT is on floor lUr. On whaT

floor did The eleuaTor sTarT?

The l4“ floor

(l8. Jenna danced for 3 hours on Sundag, Z hours on

Mondag and Tuesdag, l hour on Thursdag, 15

hours on Fridag, and 2 hours on SaTurdau. She

did noT dance aT all on Wednesdag. WhaT is The

average number of hours she danced each dag?

Round uour answer To The nearesT TenTh of an

hour.

abouT 16 hours

qq. Jackie makes $l5.25/hour babgsiTTing. George

makes $i8.50/hour mowing The lawn. If Jackie

babgsiTs for Ll hours and George mows lawns for

3 hours, who makes more moneg? How much

more does he/she make?

Jackie makes $550
more Than George.

TOO. A box of 8 cragons cosTs 230%. How much does

each cragon cosT? AT ThaT uniT price, how much

would a box of 3O cragons cost?

$360



Adding, Subtracting, Multiplying and Dividing Integers (A) Answers

Name: Date: Score:

Calculate each sum, difference, product 0r quotient.
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(+2)><(—12) = ( 24) ( 12)+(+12)= ( 1)

(+11) (—2)><(+10)=( 2o)

(+8)+(+7) : (+15) ( 6)+(+12) = (+6)

(—10)+(—10) = ( 20) (+1)><(—10):( io)

(+12)—(+5) = (+7) (—12)—(—9) = (—3)

(—10>+(—6) = (—16) (+11)+(—3) = (+8)

(+8) (—2) = (+10) (+6)+(+1) = (+7)

( 12)+(+1) = ( 11) (—4)—(+2) = ( 6)

(+9) x (—12) = (—108) (+3) (+3) = (0)

(+9)+(+11) : (+20) (—3)—(—12) = (+9)

(+18)+(—9)
-

{—2) (-11)+(-1) =( 12)

(+11)><(—8) = (-88) ( 11)+(—4) =( 15)

(—7)+(—8) = ( 15) <—4>—<—9) = (+5)

(+44) + (+11) = (+4) (+2)><(—2) = ( 4)

(—3)><(—9) = (+27) (+8)—(+5) : (+3)

(+9)+(—9) = (0) ( 5)><( 6) =(+30)

(+9)><(—2) ( 18) (+11)+( 11): (0)

(+5)+(—8) = ( 3) (+5) ( 12)=(+17)

(+9) <7) (+1e) ( 6)><( 9) =(+54)

( 1)—(—8) = (+7) (+35)+(+5) — (+7)

(+6)><(—11) = ( 66) (—2)+(+11) = (+9)

(+12) (—11)—(—6) = < 5)

(—10)—(+3) H3) (+3)><( 5) =( 15)

< 8)+(—1) : (+8) (—48) + (—12) = (+4)

{—27)+(—3)
- (+9) (+11) ( 7) =(+18)



Adding, Subtracting, Multiplying and Dividing Integers (B) Answers

Name: Date: Score:

Calculate each sum, difference, product 0r quotient.

{-6)><(-8) :(+48) (+108)+(—9) =( 12)

(+4)+( 10): ( 6) (—16)+(+4)
—

{-4)

(+10)><(—6) :(—60) {-9) < 5) —
( 4)
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(+2)—(—8) =(+10) (—8)—(+6) =( 14)

< 11)+(—7) =( 18) ( 11)><(+3) =( 33)

(—88) + (—11) : (+8) (—5) >< (+11) : (—55)

(+44)+( 11): t 4) (—11)><(—2) = (+22)

(+10) + (+12) = (+22) (—5>—(+9) =(—i4)

(+20) + (—1o) = {—2) (+6) >< (+11) = (+66)

(+10)—(+1) = (+9) ( 10)><(+8) =( 89>

(+8)><(—4) =( 32) (—8)><(+2) =(—16)

( 6)—( 10> = (+4) (+11) (+11): (0)

(+12)—(—3) =(+15) (—9)+(+11)= (+2)

(—50)+(+5) _(—1o) (+4)><(+9) = (+36)

(+9)><(+9) =(+81) (+3)><( 4) =( 12)

(+7) — (—10) : (+17) (—14)+(+7) = {—2)

(+7) + (+11) = (+18) (+2>—(—9) —(+11)

(—8)+(+7) = ( 1)

(+7)><(—8) =(—56) (+6)+(—4) — (+2)

(+12) (+1) =(+11) (+2)+(+6) = (+8)

(+3)+(—1o)= {—7) (+4)+(—12)= ( 8)

(+12) (+7) = (+5) (+40)+(+8) : (+5)

(—10)><(+2) =( 20) (+2)—(+4) = (—2)

(—12)—(+5) =( 17) (+8)+(—12)= {—4)

(—6) >< (—12) = (+72) (—2)—<+3) = ( 5)



Name: Date:

Simplify each expression using the correct order of operations.

(—6) + 3 + 23 — (—8)

:(—6)+3+8—(—8)

: (~2) + 8 — (—8)

= 6 — (—8)

= 14

((—5)
+ 5 — (—402) x 3

=
((—5) +

s 16> >< 3

= (o — 16) x 3

: (—16) >< 3

= —48

(8
— (—4) + (—8))2 x 4

=(12+(—8))2><4

=42x4

=15x4

=64

<—2>2 — 6 + (—9) x (—3)

42 — (—2) + (—8) >< (—9)

= 16 — (—2) + (—8) x (—9)

= 16 — (—2) + 72

: 18 + 72

: 9t}

10 + (—2) — (—7) + 62

: 10 + (—2) — (—7) + 36

: (—5) — (—7) + 36

= 2 + 36

=38

(—2)><8+92—5

=(—2)><8+81—5

=(—16)+31—5

:65—5

=69

(—7)><(—6)—6+42

=(—7)><(—6)—6+16

=42—6+16

=36+16

=52

(—4)2+2x10+4

:16+2x10+4

=8x10+4

=80+4

=84

8 +
((—8)

— (—2) + 5)
3

= 8 —
((—6)

+ 5)
3

= 8 — (—1)3

:8+(—1)

=—8
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Order of Operations (J) Answers


